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Intermediate Exam-2021

MODEL QUESTION PAPER
SET -1 Intermediate
(I.Com)
Business Studies
TGRS JeTI
aiftfe sexfifste udiam 2021
Time Allowed : 3 Hours Full Marks -100
agfadedtar uest  Objective questions :- 30x1=30
1. wydees &aT &— The manager is -
(A) Zareit Owner (B) arar Leader
(C) &1 Boss (D) zad A his &l None of these
2. @erdt WAl & Henry Fayol was a
(A) Jdsmfereds Scientist (B) &=ImaTer  Accountant

(C) Teter 3AT3=TAT Mining Engineer (D) fas3ATer Farmer.

3. foeaateiRaa & A Pia AT ordioiar bF fadwar 21

Which of the following is a feature of planning.
(A) T1eI Urd B U &7l (B) <Imues Pervasive
Bfegd AT & |

Focuses on achieving goals
(C) @ATe—¥Ie T=ITA Mental exercise (D) 3uRiad AT All of the above

4. rofer &M USTe &IdT & A& T a— Planning provides direction is a-
(A) feritotel T HAsaa Importance (B) fer=iieiar @bt =fiar

of planning limitation of planning
(C) Ter=lisiel & cT&ToT (D) fafér Method
characteristics of planning
5. AHAaA Zeaiua fs=am sirar 8- Co-ordination is established by-

(A) 3= IAT Udered gRT By Top level management.
(B) #AZAT Uderel &RT By middle level management
(C) fereet=a<stsr uderel ERT By lower level management
(D) s Tl & g1 By all of the above.

6. oleal ToTais foTu uder amaedds 2-
Management is essential for the organizations which are ........
(A) AT—ATHBIT FoTaeT Non-profit organizations.
(B) AAT JHoTaeT Service organisation.
(C) AATISTes HoTael  Social organisation.
(D) 3uAaa J3fT All of the above
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IUeRIT B 3MferbrR B dsq AR B-

Rights of consumer are protected under-

(A) 3T J2&T9T 1986 Consumer protection 1986

(B) 3UHTaAT H2&ToT 1990 Consumer protection 1990

(C) IuaflaraaT AAZeToT 1982 Consumer protection 1982

(D) 3uasilaaT J3eToT 1991 Consumer protection 1991

foreafaRaa & J dHia Iusfiagar JeToT & oI ®w1H Badielt  JHoreeT
SET B

Which of the following is not an organisation working for consumer protection.

(A) 3TaiTeraT 3tmarst Consumer voice

(B) 3uaiiaaT Wwizar Consumer forum.

(C) TR HATelh bl @c\ﬁ The bureau of Indian standard.

(D) IusTierdT IUNTAT 30T g3 ATATsS Consumer utility & Trust society.
uderel @ RTegia - Principles of management are-

(A) ATdeirar Universal (B) oT=itaY Flexible

(C) Jgut Absolute (D) <arasr3es Behavioral

HATARIE Hifar FHATeMR 8- Mental revolution is the essence of-

(A) st SESES) Scientific (B) =frster Combination
Management

(C) fadestepzor Rationalisation (D) Tem Profession.

ToIaaIToARga 3 hlel AT JoToel dY Uk &l a—

Which of the following is not a process of organising.

(A) b1t Tererrster  Division of work

(B) et @pT Ters»uorT Assignment of duties.

(C) AsToNT AHE Ferelm Grouping jobs

(D) ferofer cretiT— Decision making

Tioteel UfchaaT @ ahadd &— The steps of organisation process are-
(A) 2 B) 4

© 6 D) s

TS 3BT dlcl 3UhH H =TUOT BIdT 8 |

In a large sized enterprise delegation is -

(A) @i Voluntary (B) 3mraesras Necessary

(C) siferar=t compulsory (D) setd A pis =iél None of these
HATTT JAATeTeT Uder A AfFATATT &— Human resource management.

(A) a1t Recruitment (B) =r=rer Selection

(C) wfsreror Training (D) = J38fr All of these.
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HHIIRTT & err A AfFATSTa 8- Development of employees involve-

(A) ugresttad Promotion (B) Zermeriazor Transfer

(C) ufsreror Training (D) =r& Jrsfr All of the these
ferdoter @ daa - Elements of directing is -

(A) u=faetor Supervision (B) T=Um Motivation

(C) argaa Leadership (D) 3Iuzierd At All of the above

3EUATh AARE b 3l Ppar &irar &— Informal communication is also called.
(A) &@¥eT JAA1T Wheel communication (B) Jruarser Grapevine

(C) #ARsas Verbal (D) geJr visual
Uidetds wHTATRTT @bT &— Supervisor is of the worker .............
(A) 3151 Friend (B) HAtotaetas Guide
(C) =retferes Philosopher (D) = Jafr All of these.

foreafaRaa & 3 Ha dzonm & adwar =&t 2-
Which of the following is not a features of motivations?
(A)J& U 31faTest aTgelr &— Itis an integral feeling.
(B) 3rgfuieriey @I @l Hal a— Reduces absenteeism.
(C)sifear ufesar Complex process

(D) UhIRTcHE AT AhIIcHdb & Adbdl &— Can be positive or negative.

gHTdT fersisror 8- Effective controlling is .............

(A) Rz Static (B) fereriRar Pre-determined.

(C) ar=aTedAa®s Dynamic (D) 3udrerd JafT All of the above
ferei=Ior T waarl @w2d @8- By employees control is -

(A) Tarer opposed (B) Al Support

(C) U< liked (D) satd A pIs =tél None of these
fo<f=r udereT 8- Financial management is -

(A) AT Art (B) fasirer Science

(C) war 3N fasmer <l Art & (D) getd A wbig <T@l None of these
Science both

fordel A A Plal BRSb TadT forofT b)Y gaAfda ba & ?

Which of the following factors affect financial decision.

(A) atrota Cost (B) SifRar Risk

(C) =tmat wars Rafar Cash flow (D) 3udera At All of the above
position

T @1 AGA JZAT J'a &— The cheapest source of finance is -

(A) srutgsr Debentures (B) J#AT 3fer Uoft Equity share capital

(C) ygiigrepre 3fer Preference share (D) wicrenmi3d 3uTsiel Retained earning
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Ther faufdt f&a @t JRemm =l @— Stock exchange protects the interest of...

(A) feraeres BT of investor (B) @wusit BT of company

(C) IAZPBT= BT of Government (D) f&B=t @1 =&t None of these
farsitaer @— Advertisement is. ... ..

(A) 3TeITaeAd unnecessary (B) ereT @5t @aidt Wastage of money
(C) fafer=ner Investment (D) satd A pIs =@l None of these

forgorel fHSIOT B daa hlel a—

Which of the following is the elements of marketing mix.

(A) Weh 3dre A product (B) 9fc=r Price

(C) ugrestta Promotion (D) 3Iudrerd JafT All of the above
frguTer uder @1 Sled Jermel &— The birth place of marketing management is
(A) Soatvs England (B) wizT France

(C) dreivs Poland (D) 31 AR®T America

TTATRIh Taa Pl ST:mId &— Business finance is needed to -

(A) Tp =aATT z=niua @s2er Establish a business
(B) Tk =IagATA TTaT Run a business

(O) 7Bt =raaA=r @1 fa=a1”® @2« Expand a business
(D) 3uAaa JafT  All of the above.

U Ul B I ATiel HIftid dIal df AATaeT & 30—

A company is likely to declare higher dividends it.

(A)BT &bt g3 3iferes & Tax Rates are high

(B)WB= &I &3 3TUTHRd B o Tax rates are relatively lower

(C) ATSATT Bl HIWUT UT b2 Bl @2 bl hls U oI&1 UsSdr & |

Tax rates have no effect on dividend declaration.

(D) 3U=erd H AF bIs sTaéi None of the above

R zemet 13 Fill in the blanks :- 10x1=10

Tk 8 hUcl H Udel fereores Udeldd & ............ a2 @ Rerfa 2

Managing Director is the position of .......... Level of management in a large company.
(el /&e=T) Top/middle

............. Sl BT Uh TJaRerd forwrr 8 off g8 ATH  forradl & 1

ATHATST AT Td AdTloled & a2 A ddarar & |
.......... is a systematised body of knowledge that explains certain general truths or
operation of general rules.

(ferstTer/aTos2teT) Science/ Profession.

Udel BT URH ... A BaT 21 Management starts from .........
(FioTaet /31T31020T/ferenster) Organisation/motivation/planning.
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forderel & W da B.......... Main elements of direction are ..........
(2/3/4/6)
............. A BHFTRET B g AT 3R A oTger onfHeT B

............. involves harmony and team spirit among employees.
(eTgemTer/BRUa & =) Discipline/Esprit de corps.

................ UfdgTas BT IOT &1 ..........is a quality of supervisor.
(¥gca /et /farstTer) Leadership/Art/science.

AT B UTRA ..o JaT &t &1 Theleaderhas ........... authority.
(BraiTuaTiieh/3Ta=aTi3ak) informal/formal

foTeioTel 3Mem™3d Boeeeeee..... Planning based on ...............
(3e3depIeT Ur/ TSI UR) Past/Future

JAAT BT ST BRATAT ......... 3 &1 The Head office of SEBI is situated in ....
(TS /et /Aeers) Mumbai/Delhi/Chennai

ST BT HET TIAROT ... AfdAtera 21

Distribution of free sample is included in .............

(SUaIaAT JAdegel H/STUTI Adegel H) Consumers promotion/Trade promotion

3ifar g 37T uee  Very Short Answer Type questions :- 10x2=20
Hg @ fig gard ot s Ffea w2 5 udas Uh agsmame 2|

State any two points that prove that management is a multi-dimensional.

“Iotelifad H UdeT B Blg AT A&l &7 | T& BT ASl & AT oTcAd ?

“There is no significance of management in politics.” Is this statement true or false?

doiifercs Uder & B P 31eTTT H hlal—chblad A 3eTTA  MTHA ala
g

Which of the study is included in the study of scientific management?

U 315 dIvs ofTH bbb ar faouarstt oy o |

Write two characteristics of a good brand name.
Tpfsior & ar =t @r &3t | Write two functions of packaging.
o< uder & a1 38T BT Torst |

Write two objectives of financial managements.
ferdorel & dcal @ &TdH o1t | Write names of elements of direction.
ferei=or & fohedl &Y FHacal @Y for=sd | Write any two points of controlling.

37 dsilfelcs Udel Bl SleHAGTdl b HATd & ?
To whom you consider the founder of scientific management?

JAHAT &I gite A AT B bR IdTSU |

State types of planning on the basis of time.
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g 393 ueam  Short Answer Type questions :- 5x4=20

detferes udier =T @ ? What is Scientific management?

ude & Rigia &5t 3Maeddmdar o= adr & ?

What is the need of principles of management?

afefes ardTa=er A 3T o=IT JAFAST & ?

What do you understand by economic environment?
3ol wd Sfifaeit # 3iae @HIfSTE 1 Distinguish between objectives & policies.

ToTeed A 3T =T AAST & ? What do you understand by organisation.

&ef 3ader uesT Long Answer Type questions :- 4x5=20
Uds 3T oidl & IIUN oI dgvufel bIfeTE | Discuss qualities of a good leader.
HST I =T & ? SABt bl e fadwanait &1 aarsu |

What is money market? State its any three characteristics.
fereisror utcear # fefeéa fafdtesr woeaAl oo IJdmmsw |

Explain the various steps involved in the process of control.

BRITFTATR FoIGS! Ugiad a=Im & ? What is the piece wage system?
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